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Question 1

QIO 2obFoMEGHGds: 30693530308 JOMOMOE 53M(35065L FoMTmoygbL -

Select one:
a. Lbgecmols degdsmgmdols 3sblisbeg®s bogthEgdo MmOl Bydoldog dmdgbEdo
b. Lbgreol gossa0egdols dgufogems
C. bbgrmamols 3cadGacdols dgbfagams
d. Ubgremols 3555030980l gsBlsbEgms EO®OL BydolBoge dcmdgb@do
Question 2
F983560@05 v 330096M0:
»B0D03M0 LoEoEOL 35dBMI0 bgelafyml LobMLEBg (™I GDS) oG
5090853905 bganbafymlb »93009b0 BsYMBOL BsLOL Bobggzs®L.™
Select one:

True

False

Question 3

939980 256@Mgd980sb HMIgEo SOfgMl 0obsdIM IMIMSMDI:

Select one: .
-t
a. SJ‘ - S{]I;r: + 2

2
b. Se=Voz -t + .-;.,-E-f,
o
. Se = Sor + Voo -t + 22
d. Oz = Xo + Vi - £

Question 4

5330l LoLEBYILL, HMIgEdoa BsdsOosbos bom@Embols 3oM3z9wo 396mbo,
90m9ds:

Select one:

a. «9dMs30

b. oBgeE0wo

C. 3036530

d. 55069300

Question 5


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=S_x=S_%7b0x%7d+/frac%7ba_x/cdot%7bt%5e2%7d%7d%7b2%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=S_x=V_%7b0x%7d/cdot%7bt%7d+/frac%7ba_x/cdot%7bt%5e2%7d%7d%7b2%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=S_x=S_%7b0x%7d+%20V_%7b0x%7d/cdot%7bt%7d+/frac%7ba_x/cdot%7bt%5e2%7d%7d%7b2%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=S_x=X_0+V_%7b0x%7d/cdot%7bt%7d
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130D037M0 LoOY, HMIgoE FoMdmoabl Lbgmwol 0bgdEowwo s
3653035300 M30590900L BMIsls SGOU:

Select one:
a. dod

b. dsLo

C. Lokgstyg
d. §ebs

Question 6

BomEmbol 89m®g 356mb0 godmolobgds gm®mdMom , Ps®ol 0d3mwbo, M

- 9oLy, a - 5Bdo®gds (8mbodbgm 2 3sbbo):

Select one or more:
d

|
3
&[5

a.

B
Tt

b.

o Th S TR TR TR >
|
S & g

c.
d.
e. F=ma
Question 7
5 Lsbolb dmIMsMOOLLL gImMbzg3zs 396300 9B YoEs5Y0dOL
LooEL?
Select one:
a. §6gfoeby dmderomdolisls
b. §63030 dmdGomdobsl, 0vg dmIMomdOl J0BSOMMEIDS ©Y33EIL0S
C. 36IFoGrImo FndeHsmdolials, v Bmdtsmdols B0dsHMX@IBS 0E3XYdS
d. §63030 3mdGomdobsl, 0v) dmdGsmdol J0dsMmMEgds 033wYds
Question 8
F9005603H05 0019 I3M0:
#0619630000 IMIO>MIOL EOML Lbgmwol yzgws HgdEGowo dmdMomdL
90065060 LoBJsMO S GHMBIOMO sBJo@gdom."
Select one:
True
False

Question 9

3LOMEgo 2oboMmEgds :

dgo®mo LbbgmEol 0MY63000 IMIMIMS 3E3wYo VgMHdol JodsGm 9)Hmgds


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=P
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=a
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec%7bF%7d=m/frac%7bdP%7d%7bdt%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec%7bF%7d=/frac%7bd/vec%7bP%7d%7d%7bdt%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec%7bF%7d=/frac%7bd/vec%7ba%7d%7d%7bdt%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec%7bF%7d=/vec%7ba%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec%7bF%7d=m/vec%7ba%7d
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olgo IMdM>MdL, MHMEILsE bLbgmeol HgdEowgdo d9dmfigMgb HGghomgdl,
OM3gmd -=--- (00b08bgm 2 306H™MdY)

Select one or more:

a. LodGEHYYd0 J360s6 dsbgom 3mmbals

b. 596¢3H900 dgdsMdyb BHB30L ©gHI%By

C. LOB¥MEYJJOO YYOPNOYOHMSSMICYLIYMOS

d. 396900 gm0 LOdGEYJdos

€. LodOEHYIP0 IHMOIHMIGHOMBOS

Question 10

™J9e0s Lo s3OOL GHGIO (ST) IJODJN@NS BogMmsdmGOOLM
LobLEgdsdo?

Select one:

a. 35¢o

b. xmyyero

c. BowmEmbo

d. 9630

e. 8.49

f. ©obo

Question 11

dm85mds 0BMIGds bbby 3m©9gdweo doerolis s 53 dserols dmddggdol
908560 gd00 JGLOHIGOIMIO OISR dOL

Select one:

a. 998356Mgd0m

b. bbgsmdom

C. 659M3wom

d. xs90m

Question 12

F 35090l 8096 8 95005503000905%9 BgL6¥angdeeo 821850ds
250M03e905 BMOHIMOm !

Select one:
a. A= F .dv
b. A= F¢

o dA = (F-d3J)


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7b(SI)%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec%7bF%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec%7bs%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A=%7bF%7d/cdot%7bdv%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec%7bA%7d=%7bF%7d/vec%7bv%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dA=(/vec%7bF%7d/cdot%20d/vec%7bs%7d)
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d. A= 8

Question 13

3990560305 ) 3300 "obmEomgdme Lob#gdsdo dodobatyg
36MH™3E9LYd0L 399y 9bgeyool gMmo Lobg dgodwgds gooBsMml, dgmey
9993060009L 0Ly, MGMI LoLEJIOL LEKYEO GogHAOS MBIl dydogo" .
Select one:

a. 93sM0
b. 3933s60¢0

Question 14

Ubgmeol 30693037960 96960205 ©dM30Idos (8mbodbgom
9OOMILOMDS)

Select one:

a. Lbgyaol 8gdsMgmdIBY s LoBJsMmgbg

b. Lbgoeol 3sbsby s dEYdSMYMdSBY

C. bbgwaol dsboBy s Lobdsmgbg

d. bbgmeool 3sbsby, dgdsMgMdIBY S 9BJoMgdsBY

Question 15

3350 £ 5ol 8o 8@ gMos®o (603m09M0) FodEowol P1
D9OGH0wosb P2 {joMEHowdo 4500bo5a0gdmws dglcvargdwyero
39985005 299moLobgds GmOIMEom (8mbodbgm 2 Fglisdenm 3sLwgbo):

Select one or more:

A= [P(F-ds)

a
b. A= Fs
A= [Fds

A= Fceosa

A= fm Fds cos o
e. P1

a o

Question 16
960gms (ST) LsgH0s8m®obem LolEgdsdo 0834elol gOMGIEOos:

Select one:
a. 6.9 /02
b. 33.8/60
C. 2.18/§02
d. 3.9/%0


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A=/frac%7bF%7d%7bs%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=p_1
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=p_2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A=/int_%7bp_1%7d%5e%7bp_2%7d(/vec%20%7bF%7d/cdot%20d/vec%20%7bs%7d)
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A=Fs
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A=/int%7bF%7dds
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A=F/cos/alpha
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A=/int_%7bp_1%7d%5e%7bp_2%7d%7bF%7dds/cos/alpha%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=SI
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e. 6.9/

Question 17
QLMo 2obToMBHGds:
dod 5ol 033liols 33eP0Egds ----- .

Select one:

a. 35M339ve dsbdoenbyg

b. @OHMOL goM3397w Freegdo
C. LOgMEOL A9M3ZgME Mo

d. 2503391 06¢H35¢0d0

Question 18

m dsbol Bogmogho FgdEowol 0bgMEool dmdgb@o »demsgzo wgMdol dodsGo gfimgds ....

Select one:

a. 59 §90E0wol dsbol bsdMmegal Moowli-ggd@mmL

b. 53 §gOE0owol 3ol 65063l WyMABY Jsbdow by

C. 530 §96@00l dsLol 653Mog3wl dsb3eow dsbdowby

d. 53 §9OEGH0owob Lol BFGIZL VgIMAsdEY 3630w ol 335MGHBY

Question 19
F doerol dmdgbBHo 9fimgds Loogl, MMIgwog YOO ...

Select one:

a. F dosewobs s boBds®mol bsdMegenls

b. r ®s@omb-39d@m0obs s F dscmol ggd@m@een 6s36sgel
C. F docools o 9BdoMgdols bsdmagemls

d. F dogobs s ©®mol 6596sgel

Question 20

Select one:

a. 033mwbo 0E3wgds
b. 033mlo 6 ogzwgds

C. LoRdJoMg 033egds
d. 29005a0w9Bs 0E3GdS

Question 21

099 3539605¢06 §oMEH0wBHg doems 56 dmgddggdl (F' = (), 85806 dobo ---


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec%20F=0

03m39m §OR0L AsLHzMog dmdMego Lbgmwol dog® dmerm 3 {5330
3963woo ds6dogo, v bgwo dmdMomds MLsfyolm LoBdstoom t =
10 §3-0b 996353 md50 S Jobo sBdo@gds a = 29/(d? (39edo BsfigOgm
dbmermo Mosbzo, dgsbgo LobmlGHom, 0sy.1.23)

Answer:|

Question 22

30330 BbHgMol 450050030 dsbg g gdmeo dmdomds, 0¥y dslby
9mgd9o §930L dogws GHmeros 2000 BowyEHmbol. bLbgrero dmdmomdl
MLsHgobe boBds@oo 4 3/ sBJsmgdom. s 2 3/3..LoRdsGoom. (39wdo

Bofiago dbmemo MoEbzo dgsligool LobmbEom doy: 1.234).

Answer:|

Question 23

05 OML 3,msb®dgdl 120 3 Loa®dol 330M500L gogersl 100 3 Loa®dol
353509090, mv) dobo LoBds®gs 72 30/bm? (39do Bsfg®gm Fbmeme
Goibgo, dsy. 1,23):

Answer:|

Question 24
65 3995050 SLOWgdl 40 6. dsews 11 6. Bzo®molL 8 3. Lodsmergby

SLo@obo?
(3980 Bsfighgom dbmenm Mogbgo, doy: 1.234 )

Answer:|

Question 25

03039 {Hommo oligmb 0bgmEool dmdgbdo LodgE Mmool wgmdol dodscmo,
o) dobo LM =233-b, bmeom Gsombo 0.29-0s. (39edo Bsfgdgo
dbmem Mogbzo 395L9oL LoBMLE0m. dsy: 1,23 )

Answer:|


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m

